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Materials:  

 12 Paros® par Puca®  

 6 Super-KhéopS® par Puca® (SK) 

 6 Arcos® par Puca® 

 12 Minos® par Puca® 

 2 teardrops (T) 

 2 stick on rhinestones 3 mm (SR3)  

 seed beads 15/0 (SB15) 

 seed beads 11/0 (SB11) 

 seed beads 8/0 (SB8) 

 2 earring hooks  

 jumpring 4 mm 

 FireLine 0,12 
 

 

2)  Add 2 Paros® (from 

the center to the outside). 
 
 

3)  Pick up 1 SK®, 3 SB15 

and pass to the same SK® 

(the second hole). 
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1)  Pick up 1 SK®, 3 SB15 

and pass through the SK® 

(the second hole).   
 
 
 

5)  You’ll have this. Pass 

through the central SB15. 
 
 
 

6)  Add 1 SB11 between 

each central SB15.   
 
 

4)  Add 3 SK®, 6 Paros® 

and close (pass through 

the first Paros® added).  
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8)  Pick up 1 SB15, 1 Arcos®,  

1 SB15, 1 Minos® and 1 SB15.  

Pass throughthe Arcos®, add 

1 SB15 and pass through the 

Paros® (middle).  
 
 

9)  Add 1 SB15, 1 Minos®, 

1 SB15 end pass through 

the Paros® (top).  
 
 

7)  You’ll have this. Pass  

through the Paros® (red 

arrow).  
 
 

11)  Repeat step 10 in the 

bottom of the triangle.  
 
 
 

12)  Stick 1 SR3 in the 
center.  
 
 

10)  Repeat steps 8 and 9. 

You’ll have this. Pass through 

the Minos® and add 2 SB15, 1 

SB8 and 2 SB15 (making a 

loop). Repeat 3 times to 

strengthen. 
 
 

13)  Pass through the SB8, 

add the jumpring and the 

teardrops.  
 
 

14)  On the opposite side 

pass through SB8, add the 

jumpring and the earring 

hook. 
 
 
 



 
 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Happy beading! 
Thank you for respecting my work. © 

Puca on May 19th, 2018 
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15)  Congratulation! Your 

first earring is over. It 

remains to do the second. 
 
 


